A A % f § Polynomentwicklung

Name: Datum: Ergebnis:
(5x+ 3)(2x° — 6x + 4) — (4x — 2)(5x — 4) (3x— 2)(x — 6)(2x — 4)
(2x — 3)(x* = 3x+ 3)— (6x — 2)(6x— 1) 2x— (3 + 5x)(3x + 4)(6x + 6)
(5x% + 6)(6x+5)— ¥ —x+6 (2% — 1)(5x— 5) + 4% — 6x — 2
(3x — 4)(4x* + 2x — 5) + (6x + 4)(3x + 6) (2% = 3)(5x — 2) + 622 + 4x — 4
(% +3)3x+3) — 5 —2x +3 x— (4= 2x)(4x— 5)(3x—4)
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Polynomentwicklung

Name:

(5x + 3)(2x% — 6x+ 4) — (4x — 2)(5x — 4)
10x° — 44x% + 28x + 4

(2x— 3)(x> = 3x+ 3)— (6x — 2)(6x — 1)
260 — 457 +33x — 11

(5% + 6)(6x+5)— X —x +6
30x° + 24x% + 35x + 36

(3x — 4)(4x% + 2x — 5) + (6x + 4)(3x + 6)
12 + 8% +25x + 44

(F+3)(Bx+3)— 5% —2x +3
3 - 2%+ Tx+ 12

Datum: Ergebnis:

Bx—2)(x—6)(2x—4)
6x° — 52x% + 104x — 48

2x— (3+ 5x)(3x + 4)(6x + 6)
—00x°> — 264x” — 244x — T2

(2 — D)(5x— 5) + 4% — 6x —2
10x° — 6x% — 11x + 3

(2% = 3)(5x—2) + 6% + 4x — 4
10x° + 2% — 1lx+ 2

x—(4—2x)(4x— 5)(3x—4)
24x> — 110%% + 165x — 80
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